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Note

Bkl
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Sociology

Paper II

THISTIME
P9aeRT 11

Time Allowed : 120 Minutes]
: This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U STed. T YA e

: I YETURARHE] THU FIAR (100) TgIART YA el Sed. Yoo YAl g (2)

Post-fordist organisation is
characterised by :

(A) Standardization

(B) Greater flexibility

(C) Assembly line production
(D) Centralization of labour

Hypothesis formation is not a part
0) SRR .

(A) Survey

(B) Positivist research

(C) Steps in qualitative research
(D) Policy research

Which one of the following does not
show commodification of rituals ?

(A) Mass Karva Chauth celebration

(B) Universal celebration of Sangeet
Ceremony

(C) Private worship of god
(D) Jallikattu

4

SAR-hIfSR e afymeeg
3R,

(A) JHTOIHI

(B) 3iferer oferf=reRdl

(C) shfHesh Teoull IcUIGH

(D) SHT helhiu

(A) Heler

(B) WeHefaTel ERMeH

(C) TUTcHeh HNEATdE  qrE=a

(D) T ERied

Eeierieh! v faei= fafmeeasgso
E 2

(A) STIURRERST hidl <Y TS H0]

(B) HId HHRY HTS51ehT0] HIS Shv]
(C) Tar=t Sl WISHiqu &30l
(D) SifeTehg

[P.T.O.



Which of the following does not

describe McDonaldization ?

(A) Efficiency

(B) Unpredictable

(C) Automated

(D) Calculability
Depeasantization refers to .............. .

(A) The declining of peasant

practices

(B) The substitution of market

rationality in agriculture

(C) Expulsion of small producers

from the land
(D) Commercialization of agriculture

Which term is used by Karl Marx
to describe the process by which the
working class grows increasingly
impoverished in relation to the

capitalist class ?
(A) Precariat

(B) Pauperization
(C) Marginalisation

(D) Exploitation
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WU SRV Hehg MeSTaaeTe Jui
ATEr ?

(A) e

(B) SRR

(C) Tg=fad

(D) AT OIS

o o C o

[Hleh Hdlqlen Ul +HUIS

(A) vt ffed =gagr w2

o o

(B) Idl-ooRr=an foaehientome 9ty

e

(C) TRM Il IGRMH FHATIRA 5T
EXu|

(D) T SATIRIRIO B0l

qeaadsl M= qerid FfHeh adra

~

el gacreal Ufshad S0 HITATHIS!

T A JTT SR G STt 378 ?

(A) Y=
(B) hITeAehLol
(C) HHidishio

(D) SIS




10.

Who argues that any consideration
of social facts without their value

components is unreal ?

(A) Radhakamal Mukerjee

(B) G. S. Ghurye

(C) Irawati Karve

(D) M. N. Srinivas

Which of the following is not the

characteristic of Disneyization ?
(A) Theming

(B) Hybrid consumption

(C) Merchandising

(D) Individual identity

What does Weber’s concept of zweck-

rational action involve ?
(A) Means-end relationship
(B) Habits of the actor

(C) Only means

(D) Emotions of the actor

The famous book, ‘The Moral
Economy of the Peasant : Rebellion
and Subsistence in South-East Asia’
is authored by ......cccccc....... .

(A) James C. Scott
(B) Partha Chatterjee
(C) D. N. Dhanagare
(D) Andre Beteille

10.
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‘grafsies 9ed fa=ma Samr deas
JoaTcHeh H2h A T B0 7 ST
AR’ AW vl yfqued sa ?

(A) THRTA el

(B) ST wH. o4

(C) SUadl el

(D) W T #ifemw
WeATeTeh! Shiod feTeTaaeT = afemey
& ?

(A) el Arsoft

(B) Hahfkd 394

(C) =TI

(D) HfedTd 3@

JoY AT SAHIHEA AT FhoqTHE
hHIMT HHEYT BIAl 7

(A) e wre gAY

(B) e dat

(C) Hde e

(D) A= &l

‘T Oitet SehiATH 31T € fugie ; Yseraq
310E HeHTge 31 FSosse TRrn’’ =A@
q&IehTd TT@h hlvl ?

(A) =9 &t @hic

(B) e =St

(C) €. . &R

(D) 313 9P

[P.T.O.



11.

12.

What term is used by Durkheim to
understand “The totality of beliefs
and sentiments common to average
citizens of the same society forms a
determinate system which has its
own life” ?

(A) Division of labour
(B) Collective conscience
(C) Mechanical solidarity
(D) Organic solidarity

Match List I with List IT and select
the correct answer from the codes
given below :

List I (Author)
(@) K. Marx
(b) E. Durkheim
(¢c0 M. Weber
(d) T. Parsons
List II (Book)
(1) The Social System
(2) Economy and Society
(3) The Poverty of Philosophy

(4) The Division of Labour in
Society

Codes :

(@ ®) ()
A @ & @ @
B) B @ @ @
e @ @ 6 @
D @ 1 @ 3

11.

12.
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" U GHSIAE AT AT
foIvaTg & e 99 & Th 3R fAuie

e e, o= Tk @d= 3 A
3. A STEEHA IV Tl arae!
R ?
(A) gEfaaETft
(B) WHfgsh HHG ool
(C) =itk TR
(D) o T
T 1 oo At I S[ean STfor et
feeiean HishaMmyd Irg Sar faer -
Tt 1 (@)
(@) . A
() T @A
(¢c) TH. TR
(d) 3. JEd
el I (TTeh)
(1) =t drre fafed
(2) TR ST el
(3) <& dieedi oM fhairdrm
(4) <t fefegsH 3k o) 39 QHEEE
WHehdieh :
(@ @) () ()
A @ & @ @
B) B @ @ @
<Cc @ @ 6 @
M 2 O @ 3




13.

14.

15.

Who wrote the book ‘Commodities

and Capabilities’ ?
(A) Amartya Sen
(B) M. N. Srinivas
(C) D. P. Mukerjee
(D) A. R. Desai

Which one is not the part of

ecological infrastructure ?
(A) Soil

(B) Flora

(C) Building

(D) Fauna

“Rules, social recipes, conceptions of
appropriate conduct used as a frame
of reference to act in social world”

is called ................ .
(A) Life world

(B) Stock knowledge
(C) Role-taking

(D) Indexicality

13.

14.

15.
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N 2al Ta S a W a

"FHHIES 3fve Hufaciies’ a1 &N

AR R0 ?
(A) 3T T

(B) TH. . ifremm

(C) eI Tt Fewsit

(D) T o, T

TeATeTdeht hiord TRTErTeTe = arme
A WA AR ?

(A) AT

(B) =t

(C) sAR!

(D) ot ST

BEISEIS UG NBCTGIE I EREE S
[T q oTfor 3fed SdAfasEe

HehouT A T dlehe TUHA AR el

(A) SieHfaes
(B) IS

(C) YfHeRT &Rur 0l
(D) R
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16.

17.

18.

The emergence of creches for taking

care of infants is the example

Of e .

(A) Dysfunction

(B) Non-function

(C) Functional alternative
(D) Latent dysfunction

The Savage Mind is written
o) 72N .

(A) Karl Marx

(B) Claude Levi-Strauss
(C) Harold Garfinkel
(D) Clifford Geertz

C. W. Mills’ concept of ‘Power Elite’
refers to a group of three elites

(A) Economic, Political and Military
(B) Social, Economic and Political
(C) Social, Military and Political

(D) Social, Military and Economic

16.

17.

18.
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T AT ehicssil SUATHIS! TTe3UITeRI=T

o 3T ¥ I ST ST 7
(A) et

(B) e

(C) wmEfcs ==

(D) 2T9ehe AYHH

fe et wiEge, & ol fetfeet e 2
(A) He He

(B) il A=l-w2H

(C) T MRk

(D) frrdrE TS

. =g, faed @t ‘aer sfae’ &
Heheud 1A S FHeifaw gfed
(A) emfder, Tomntg sfor Afent

(B) wrHIfSieR, affefer smfor st
(C) WIS, dfTaRt ofoT qshr

o A\Wa o

(D) 9mHISTeh, HI<hl

affor eqfefen




19.

20.

21.

Which feminist perspective focuses
upon the interconnectivity of

patriarchy and capitalism ?
(A) Liberal feminism
(B) Socialist feminism
(C) Radical feminism
(D) Marxist feminism

‘Because motive’ and ‘In-order-to

motive’ refer to ................... .

(A) Future and Present

(B) Present and Future

(C) Past and Future

(D) Past and Present
Hyperreality refers to .............. .

(A) Social experiences that are more

than real

(B) Social experiences that are

unreal

(C) Social experiences that are
digital
(D)

Social experiences that are

unbelievable

19.

20.

21.
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IO ARl gt qEogamEd o
SRR STARESEER T4 hisd
Fl ?

(A) RRAEAERT g

(B) HNERT Sieg

(C) SReHdaR! Sdg

(D) "EHaRE] SR

‘Tor gIom’ eTrfur =ETETel-g e’

(A) arEIaTgeT AfYeh STHUR HTHTSIh
v
(B) 3TaT&d 19 WM STIHd

(C) S qMISe TI9d

(D) sifavagda 3@ qmfSe 39
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22.

23.

24.

25.

The personal laws governing people
of different faiths in India do not

include the matter of :
(A) Marriage

(B) Divorce

(C) Cohabitation

(D) Succession
Simulcra is ........cc......
(A) Image without original
(B) Digital image

(C) Virtual image

(D) Similar image

When was the National Environment
Awareness Campaign launched in
India ?

(A) 1985
(B) 1986
(C) 1987
(D) 1988
Which of the following is not the

structural feature of caste system in
India ?

(A) Purity and Pollution
(B) Hierarchy
(C) Segmental Division

(D) Occupational Difference

22.

23.

24.

25.
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gRardie fafay gmen aepm
ST a—q-ﬁﬁa; Wﬁ@ ................
I GHEE B e

(A) foemg
(B) ©EEhIE
(C) HadrEed
(D) ar&

(A) T Tqeiell gfdH
(B) 3fentd gfaH
(C) Nyt wfqe
(D) FHME faH

qRATT TSI TATRONTTSR STEehdl

i R A8 shesl g® el ?
(A) 1985

(B) 1986
(C) 1987
(D) 1988

ETeATeTdeh! I WA S lede<d
GEATHes e e ?

(A) Yo Ao ggu

(B) &oft =

(C) wereHs favmroft

(D) =HEHTS 9

10
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26. Dr. B. R. Ambedkar’s solution for | 26. <. dl. ST SEHIE S SRR
‘Annihilation of Caste’ is .............. . sqrg 7 oM.
(A) Reservation in Jobs (A) h{idie 3TRE
(B) Intercaste Marriage (B) St fodre
(C) Legal Action (C) FEER Fell
(D) Social Reform (D) WIS GHrRom
27. The function of the ‘Kula-ring’ | 27. 3fiFiey #&d 3o ‘FHen-o1' = &
among the Argonauts is : =
(A) Status enhancement and
integration (A) TS HAET ST et
(B) Distribution of special goods in (B) a9 A= gamsHeie faawo
society . .
(C) To satisfy primary needs of the (C) ISRt FeeAl ST Tt
members of society t@?” HT0!
(D) To satisty the need for (D) YAflaRoT=a TR el o]
redistribution
28. What defines the life world ? 28. Sfferfavd wUS HM 2
(A) The shared reality of everyday (A B e T A
life
(B) The life history of members of (B) THNI TS Siia-sfderd
society
(C) The world of norms, values and (C) WISt e, T S bRl
institutions of society fava
(D) The social world of behaviour
and activities (D) &= eTfo e wmtee fava
11 [P.T.O.



29.

30.

31.

Which of the following statements

appropriately explains Mannheim’s

idea of ‘relationism’ ?

(A) Knowledge and beliefs are the
products of socio-political

conditions

(B) Certain knowledge and beliefs
are true only in certain times

and places
(C) Certain knowledge and beliefs
are true beyond time and space
(D)

Knowledge and beliefs are class

and nation determined

According to Durkheim in which
societies we can observe contract

law ?

(A) Industrial society

(B) Tribal society

(C) Rural society

(D) Small society

Which book is based on students’

notes from a course taught by

Mead ?

(A) Mind and Society

(B) Mind, Self and Society
(C) Presentation of Self in
Everyday Life

(D) The Philosophy of the Present

29.

30.

31.
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TTcTadeh! HIvd faum Heea ==

HAgART= hed Faraqur e i ?

(A) T s gigen A FiHd Fmfes-
TSRt Terdiqd =id

(B) fafere sigen snfor 3w © fafdme s

M TBTER. HH ST

(C) ®es I sHiedaeiiene fafirse gigen
0T I H 3TE

(D) S S0 S1ge =1 o S0 TRIFER
[REIESIGIN

STETEH Ir=AT Hd hicHeh hIFe] 3T

IV FHSTHE Ug Iehal 2
(A) SiEfs wm s

(B) stfcardl HH=

(C) Tt FHIS

D) B FHN

SRV JEIeh HiSH Rehaeicd SIsHHIET
forneaf TR Shotean fequmer STRe
e ?

(A) TrEs v e

(B) HWES, Ucw 3T HEEE

(C) TSIy 3MF Ak 39 Tlie aEh
(D) & frerErst sife € e

12



32.

33.

34.

According to Bourdieu, which
concept explains the ‘Mental or
Cognitive structure’ through which
people deal with the social world ?
(A) Field

(B) Cultural capital

(C) Habitus

(D) Agency

Who is associated with the concept
of “urbanism as a way of life” ?
(A) O. Lewis

(B) L. Wirth

(C) R. E. Park

(D) H. Lefebvre

T. H. Marshall’s idea of welfare

on the basis of citizenship rights

entails :

(A) Civil rights and political rights

(B) Political rights and social rights

(C) Civil rights, political rights and

social rights

(D) Civil rights, political rights,
social rights and economic

rights

32.

33.

34.
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S5y ATSAT T WIS ST Tieh Sagk
AR HIAA M AARTR & AYAHS

G fase IO HeheudT vt ?

(A) &

(B) WiEpfdeh oiead

(C) few

(D) e

Wil Hiome © * STeied ofS &1
9 S S I HeEfd e ?

(A) 3. W=™

(B) e, =4

(C) 3. S Uk

(D) TH. TH%

3. TH. ARTE AT ARTRehET=AT gaehior

ST Theh A=A hed-d
A R

(A) T BFF d USThid BFh

(B) USRI Bk o HMHEISeh BFh

(C) MM &k, USTHhIT TFh  SI0T
TSR Bk

(D) R &Fh, TSIhid &, QeI
Bk o ofifes ek

13
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35.

36.

37.

The globe trotting elites experiencing
food, clothing, aromas and spatial
features of distant places is termed

by Castells as ............... .

(A) Social spaces of Neoliberalism
(B) Spaces of flows

(C) Spaces of networks

(D) Floating spaces of elite

Castells refers to inequal access to

digital networks as .................. .
(A) Digital divide

(B) Network divide

(C) LT. Inequity

(D) Blackholes of marginality

In which year Domestic violence was
recognized as a criminal offence in

India ?

(A) 1975
(B) 1983
(C) 2005

(D) 2011

35.

36.

37.
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FHTECH AT MY Hes feesu=al

SIS qLReM=a o7, e, gard a

STIRIRICH IS Beied STHaTe

(A) TISTRHATIRNET HHETSeh  3TIehTY]

(B) YATRIE 3TIehTYT

(C) IS 3TahMl

(D) IS TG SRR

FRZc AR GSar=a fasm Gefe

(A) 3Tehrg faamront
(B) Eeied fasmoft

(C) wifgdt T fasm arey
(D) HerciteRtom=il FHeurfere

o [ahd

|

2

i

ha¥ ~
HIXAId  <h[UIcHT Y] SISIE

QU Y UM U SIS TRTel 2
(A) 1975
(B) 1983
(C) 2005

(D) 2011

14



38.

39.

40.

Which concept is used by Habermas
to refer to “the conditions under
which social goals and values can
be discussed on a rational and
equalitarian basis to reach a

consensus” ?

(A) Undistorted Communication
(B) Social Action

(C) Symbolic Interactionism
(D) Disenchantment

What does ‘Archaeology’ mean in

Foucault’s writings ?
(A) Speech

(B) Action

(C) Discourse

(D) Value

Hawthorne experiments in Industrial

Sociology refer to ................ .

(A) Classical Management approach
(B) Human Relations approach
(C) Conflict approach

(D) Functional approach

38.

39.

40.
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“arelt ufifeerdt <a gmfees Sfese 9
e ==l difcheh 9 FHM TR hEd

i N

geHdraid qreran

HIUAT HhedqT aTIeAl 3TE 2

Jq’!, AEST ETEHTEA

(A) STfauE Fgoo
(B) @ISR el

(C) wfderTcAsh ATafshamare

(D) yafRE

Fehie faemdial ‘ quaweRme ' A
3w ?

(A) HToTOT

(B) &t

(C) o

D) qF

STl TSI glei JamT 7

(A) HYSIA SHEATTT gfeeehld
(B) AMaT HaY gfteswM
(C) wore gftesm

(D) wEiHS ghesnH

15
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41. Given below are two statements, one

41. Erelt gF faum foefl oRd. e T

is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) : Family is a

universal institution.

Reason (R) : It is expected to
transfer sexual rights to the spouses
in family.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

gfaaed (A) 38 AT R FR (R)

R.

iquTe (A) : Hed & WAk TE

3TTR.

HRUT (R) : SISICNHAT oifiteh SRR

UG hi0l HIAHE ITUfHA ST

o LN N N o
LAl HdendlenYenl oo STk [19s] @

- -
.
.

(A) (A) 2701 (R) SI=et SRIeR 3TTRd AT

(R) ® (A) ¥ Iy TR0 378

(B) (A) 1fo1 (R) T8l SR 3Ted, qUT

(R) ® (A) = Irg T T8l
(C) (A) SR 38 99 (R) I 3T

(D) (A) I 3¢ T0 (R) TR 3R

16
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42. Which of the following gases protect | 42. TTeATeAdeh! ShIvTd] W‘Hld%’@fﬁ@ﬁ—
us from harmful sun rays ? A 3T TR&T HIdl 2
(A) Nitrogen (A) TEISH
(B) Ozone (B) 3T
(C) Oxygen (C) STiedsH
(D) Carbon dioxide (D) HTeA SRS
43. Which one of the following is not an | 43. w@reftctisht IR AHET fash fRITHN
indicator of Human Development eyl a2
Index ?
(A) SITHMETA o1
(A) Life Expectancy
: (B) ferem
(B) Education
(C) Level of Urbanization (C) TRIRITET refest
(D) National Per Capita Income (D) STEE TRME =
44. Which view among the following is 44 TIAEIF E 0 gfes wafq S
the oldest ?
;e ?
(A) Cyclical view of social change
(B) Linear view of social change (A) HMHISTR TREATATET Tsh GIoZh[
(C) Evolutionary model of social (B) wmHIfSIeR gfiad-man o E{FQT:@'—{
change )
(C) gmIfSieh IREd SehlaaR! Ty
(D) Dialectical model of social
change (D) Tt afEdare ggiedsh U
17 [P.T.O.



45.

46.

47.

Most of the states in India have their
distinct language. This is an example

of :

(A) Social Stratification
(B) Social Difference
(C) Hierarchy

(D) Inequality

According to Max Weber ‘class’ as
a dimension of economic power can

be understood through :

(A) Control over mode of
production
(B) Market situation and the life

chances
(C) Possession of property
(D) Having a salaried job

Whose work on ‘Stigma’ led to

emergence of disability studies ?
(A) A. Schutz

(B) G. H. Mead

(C) T. Parsons

(D) E. Goffman

45.

46.

47.

MAR - 14223/11—D

TRATTS SgATeT A= = oTed! STeh

O 3R, § HIM SR 3”2

(A) GHISeR TR

(B) WIS 9%

(C) Sruirar

(D) forsma

‘i’ ¥ enfYe wow afeor egA q
SHIMAT SER TS Hell A’ 3T o=
T T

(A) SR gdrear s

(B) STSRfEerdt amfor Sfrerwdiar Heft

(C) HU= HIcTeh

(D) TR AR 790l

WY 10T  heteh | a1 Hehodqe
fahaTTdl seagar=al SqA™ AT
THesrett ?

(A) Tehe YH

(B) . T3 Hie

(C) ZfeTerie I

(D) sfefn e

18
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48. As per census 2011, the number of | 48. 2011 = SFUHTIR VAU IV
disabled persons is the highest in AN fasherT=l T qard S
which of the following age groups ? e ?

(A) 10-19 (A) 10-19
(B) 20-29 (B) 20-29
(C) 30-39 (C) 30-39
(D) 40-49 (D) 40-49

49. Who introduced the concept of | 49. SIFTEUTRIHIU (Glocalization) T
glocalization ? deheqdl 3l HUN HweA foeft ?
(A) Ronald Robertson (A) TFee Yadar
(B) Martin Albrow (B) wiféq stesi
(C) Zygmunt Bauman (C) forHe armd
(D) Erik Swyngedouw (D) e wEies

50. The only tribe which claims to be | 50. WICACTIeh! IO STCETHT STHTA ITeRTaRy
vegetarian is : A TET HA 2
(A) Toda (A) drer
(B) Gond (B) Tiie
(C) Bhil (C) fuat
(D) Santhal D) TS
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51.

52.

The communities that are engaged
in Internet to carry on public
discussions substantively with
sufficient human feeling in the cyber-

space is described as .................. .

(A) Cyber community

(B) Virtual community

(C) Epistemic community

(D) Temporal community

When agrarian stratification is
discussed we generally refer

70 YT .

(A) Dominant caste

(B) Control over land

(C) Land alienation

(D) Rural poverty

51.

52.
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I SRR S GEE S

HISHIA A Soard ed Herseheai

(A) HIsX A

(B) SNyrEl HHe™

(C) I HHE™

(D) hifcish FHSM

(A) 9arEl T

(aY o o hd

(B) SIEEICHGREREL

(C) SIfHTIE= e

(D) o TIEd
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53. Give below are two statements, one

is labelled as Assertion (A) and other

as Reason (R) :

Assertion (A) Usually
development projects lead to

ecological degradation.

Reason (R) : India needs big
development projects to become

super power.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are correct,
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

MAR - 14223/1I—D

53. el T fagm et 3Ted. Jwda T

gfaqred (A) e S gH %R (R)
TR,
gfqureT (A) : FewrEReu o™
Teheur IR IR g
2.

SHIUT (R) : HBRET SHUIEES RAT

Hioa faem Yeheur=] TS 2.,

@il HehdighlUeh! siel I fael.

- -
-
-

[a ha¥

(A) (A) 377 (R) Sl SRIeR 3R 3o

(R) ¥ (A) ¥ I TILEHI0 3T

[a ha

(B) (A) 31for (R) <= sIsR 3Ted, qu1

(R) § (A) = Irg TRl &l
(C) (A) IR 38 g (R) & I 378

(D) (A) T% 3¢ W (R) ¥ SR 3T
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54. Habitus does not focus on our ways

55.

56.

(o) SSUOURTN .

(A) Acting

(B) Feeling

(C) Thinking

(D) Rejection of belief and values

Which theory of exchanges as a
structuralist method of studying

kinship relations is known as ?
(A) Alliance theory

(B) Group exchange theory
(C) Direct exchange theory

(D) Descent theory

Which one of the following

statements about gender is not

correct ?

(A) Is a normative disposition
(B) Is a cultural construct
(C) Is a natural disposition

(D) It helps understand inequalities

55.

56.
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(D) #gl 9 oA TARRUAER

ST ST FEEGRT T5d A

o~

I vl fagid e Sl ?

(A) Tt fagma

~ ~ o

(B) 9Hg TEMHT T

SId

(C) ye fafma fasia

(D) = fagma

Qrefterient femamemen dewlda o
faum sex T ?

(A) T Yo o

(B) WiEhfaes Weq o1e

(C) T&fifeh Wit 3

(D) faoHar SU[E HUATell Hed Shid
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57.

58.

Delay, before change in one part of
society produces realignment of the

other part is known as ................. .
(A) Cultural adjustment

(B) Acculturation

(C) Generation gap

(D) Cultural lag

Which of the following cannot be a
hidden curriculum of education
from the point of view of capitalist

society ?

(A) A curriculum that produces

subservient workforce

(B) That produces more integrated

and rebellious workforce

(C) That produces passive and

obedient workforce

(D) That encourages to accept

authority without question

57.

58.
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THTST=AT Wehl SEehTdiel URed-rde facts

Bl TS GH-AT SEehTdiel Jie TSad

(A) TERfds desie

(B) FHTGHERIO
(C) Toedie 3T

(D) WEhids qvar

ATEacl FHSTAT §ieeh I @eedeh]

IV T SAAHHRH 3T Ieha ARl ?

(A) ASEHY SN TR SRR

TSR T SR

(B) A% S ek Tahlfcqen STfor
fogigr gyt oo s

(C) faftswa smftr o=mnemt STt Fafor

HLAl

(D) Aty yvq 7 fo=amrar feerdt

TR RUAE ScasH <dl
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59.

60.

What was the population of elderly
(60+) in India as per census 2011 ?
(A) 64
(B) 6.7
(C) 75
(D) 8.0
Given below are two statements, one

is labelled as Assertion (A) and the

other as Reason (R).

Assertion (A) : Political sub-

cultures are rarely homogeneous.
Reason (R) : There are significant
differences among the politically
conscious sections of society.
Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true,

but (R) is not the correct
explanation of (A)

(&)
(D)

(A) is true, but (R) is false
(A) is false, but (R) is true

59.

60.
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2011 =1 SVHTER YA Ta%h

(60+) @REEA fodl Bt ?
(A) 6.4
(B) 6.7
(C) 7.5
D) 8.0

Trelt <M faum el omed. T oTe
gfaaed (A) 31T gER 318 FR0 (R).

Yfaare (A) : TSeh A IUHEhd! Faraa

TehfSId! 79T,

HRUT (R) : TSTehIAGSAT SIS HHISI-

FeHML] TEEYU HAUg STHdm.
Tl GehdiehTdeh! a7 Iar fHaer .
Hehdich :

-~

(A) (A) 2707 (R) St seR 3TRd ST

(R) ® (A) ¥ Irg TR0l 3T

(B) (A) 3T (R) ST seR 3Ted T

(R) T (A) T Iy TqShI0 el

(C) (A) TR 318 g (R) & I 3T
(D) (A) I% 3R T (R) T e 31
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61.

62.

63.

Who opines that “Laws are actually

codified mores” ?

(A) E. Durkheim

(B) W. G. Sumner

(C) G. Arnold

(D) B. Malinowski

Which of the following states does

not have water wetlands ?

(A) Punjab

(B) Gujarat

(C) Haryana

(D) Rajasthan

Who among the following held the

view, “Marriage is rooted in the
family rather than family in

marriage” ?

(A) G. P. Murdock

(B) E. A. Westermarck
(C) C. Harris

(D) L. H. Morgan

61.

62.

63.
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a N

YN N LN N
CRAY onl4Q %’ lenlden cdlenAldl

Y FUME A SR ?
(A) 3. =EwRH
(B) T&. Sit. ¥R

aRd’’,

(C) <. eRAfes

(D) . Hefreht

ETATCTUeh! hIvTe] AT TT0eIed STTHHT
e A ?

(A) TsTTs

(B) TSI

(C) ftamn

(D) USTEIH

! + fa NN o o Al

HearEl ooy foamerd g faamer=h
TesHes e STHa,’’ 3T @efieien!
HOMTE 7 AR ?

(A) S @ WelH
(B) 3. U A=
(C) HI. &\

(D) TA. TE. HAA

64. ‘Tharwad’is ...ccccc......... . 64. ‘9REre’ § v
(A) A kind of extended family (A) foaemfia qgémm Th
(B) A kinship usage (B) AAGEHET SRR
(C) A rule of residence (C) TEdraAEe f2m
(D) A community (D) 9HHE
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65.

66.

67.

Customs are also called as ............ .
(A) Folkways

(B) Mores

(C) Laws

(D) Values

For Marx the mode of production

refers to .....coeeee...... .

of
of

(A) A combination of means
production and forces

production

of
of

(B) A combination of means
production and relations

productions

(C) The dynamics of relations

production only

(D) The dynamics of means of

production only

When more and more individuals
undermine marriage for procreation,

their orientation to sexuality can be
called ................ .

(A) Heteronormativity
(B) Same sex sexuality
(C) Hyper sexuality

(D) Plastic sexuality

65.

66.

67.

MAR - 14223/11—D

q{q{idl %_ *\iq&l j.sulc“q ...................

(A) <Rt

(B) iRt

(C) &+

D) &

A= AAR, ScAedGdl Tl

(A) ICURATET FIEH 3T Icarer=a
TR AT TR IR0l

(B) ScHIEATE! TeA ST ScaregAre e
e TehIhio

(C) Hhdes 3G Goemaeed Tfaeiietd

(D) Hae IcUEA HIEAHee faeiterdr

SToest STYeRTiEeh ekl JAecaG AT

foameren el TIEA, desl ANTehdehe

¥ TUdrd.

(A) TG TIHEATCHR

T

NINEZSI

D) w=ih
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68.

69.

70.

Whose name is closely associated
with the concept “Development

Communication” ?

(A) Denis MacQuail

(B) Daniel Learner

(C) Robert Redfield

(D) Everett M. Rogers
Subculture refers to ................. .
(A) Ethnocentrism

(B) Homogeneity of values

(C) Counterculture

(D) Common lifestyle

Which one of the following is not the

source of identity ?
(A) Ethnicity

(B) Attire

(C) Sexual orientation

(D) Class

68.

69.

70.

MAR - 14223/1I—D

TRt T’ A1 HehoqA oo hIvTY

e FEfgd g ?
(A) = Foea
(B) = e
(C) U TThics

(D) Twe . USd

SUGEhAl TUS]

(A) THHE H3dETR
(B) oAmHe TehsEal
(C) wfEemdt

(D) 9HME Sfaq ggdl

ETeiieTdehl Il Heeh  ARHA=T Hia
w2

(A) =fRTeRal

(B) T

(C) ifiter  SAfger

(D) =
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71.

72.

“Power is intimately linked to

knowledge.” Who said this ?

(A) Bourdieu

(B) Giddens

(C) Foucault

(D) Beck

Agency reflects in ................... .

(A) A student challenging caste
based discrimination in

university

(B) A youth stealing money for
drugs
(C) Daughter demanding dowry as

her right

(D) Mother-in-law’s power over her

daughter-in-law

71.

MAR - 14223/11—D

(aWaN N (a)

“gar JERT ST USdiA Siieddl

FEd." ® HIO ASA ?

A) I

(B) freg
(C) el

(D) &k

(A) Toamdierdia it snenfa SgvmeTe

afreg™ QU foremert

(B) Hlesh TeraiErel 99 EROM q%0

Hed

(C) &Fh WUA EST AN Herht

(D) WRET gAade Fe
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73. Given below are two statements, one

is labelled as Assertion (A) and the

other as Reason (R).

Assertion (A) : Eviction of Slum
dwellers forces them to live in

precarious conditions.

Reason (R) : They are not properly

rehabilitated after eviction.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

MAR - 14223/1I—D

73. @relt <9 faum feoielt oed, TwE

JITAE (A) FellEet 378 T GH-ATH HRU
(R) Falgel 3R,

yfaures (A) : SsuE-aniE fshr

(oSl

o AfY=a afifeerdid TR 9
ed.

HRUT (R) : SRR &= I 9gdi

TAEEA el S AR

oo

Eel feeiedn Hehdienr=a STER 3T I
ferer -
i
(A) T (A) S (R) & SRR 3ed
M (R) & (A) & 3Tk TSI
Sl

(B) T&l (A) 27T (R) SR 3Ted g
(R) ¥ (A) = sRIeR TqIH TET

(C) (A) & SRR 3 g (R) ¥ 9%
3R

(D) (A) § I% R Wg (R) T TR
3
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74.

75.

76.

Every economy has three sectors.
Which sector has witnessed marked

growth in the last 25 years ?
(A) Primary

(B) Secondary

(C) Tertiary

(D) Welfare

What term is used to describe the
gaps between the living conditions
of some groups and those enjoyed by

the majority of a population ?
(A) Enforced poverty

(B) Culture of poverty

(C) Relative poverty

(D) Absolute poverty

Who argued that the nature and
dynamics of Indian agrarian
economy can’t be understood
without connecting it to the
imperialism ?

(A) H. Alavi and I. Banaji

(B) K. Marx and F. Engeles

(C) M. N. Srinivas

(D) A. Beteille

74.

75.

76.
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yeh AT iF &3 STHArd. e
25 O IO ST g FUATSIIT aTe
oAl 3 ?

(A) wafds

(B) fadrae

(C) Traeh

(D) <isheheaTo

FE FHSAT™ TEUHH o SgHEARR

TRUMTHA Il S0 90 ol =l

IO ?
(A) R TR

(B) <G F&hdl

(C) drafte TIREH
(D) et giss
IR ek AT WEY F T

= GHTE ATHTSIaRR  Sdean e

(a)

TS| Tehd RN, e gfaured v

S ?
(A) TE. 3Tl & ™. FETS

(B) &. W 9 TH. TeH
(C) wH. . #ifteamm
(D) T R
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77.

78.

What is the researcher’s relationship

to the respondent in post-

structuralism ?

(A) Equal

(B) Superior

(C) Inferior

(D) Equal and dialogical

In which report the United Nations
introduced the term ‘Sustainable

Development’ first time ?
(A) Report on Human Rights
(B) The Limits to Growth
(C) Our Common Future

(D) Human Development Report

77.

78.

MAR - 14223/1I—D

S -GLEAEETd HYNeehe Tiagerett T
Y Aqd ?

(A) 9°M
(B) aRs3
(C) T3

(D) 9 9 HRI

Hﬂclﬂ {Ibé%ibilﬂ U <n[UIcH] SHedldld

HageH ‘ vnyed foer’ g T et ?
(A) RO o sy T
(B) T faffem 2 my

(C) 3o AT =R

(D) &AT SxauHe e

79. Empirical research is not research | 79. mmﬁa@a RIS IR
based on .........cceuueeeee . s dene AATE
(A) Evidence collected by systematic (A) =afega eEta Hemm= seR
observations from the field Tehfed Sholedl qEER
(B) Ideas generated through (B) VSTl d FATHAMNA  SATeica
theorizing and conjecture ICECIEACES
(C) Studies that are realistic and (C) qmmﬁwwamﬁmaw
relevant to the social world SR
(D) On site database gathered by (D) TARYeEET NS Hehferd
the researcher heled] qeaar
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80.

81.

82.

Which of the following is a

characteristic of qualitative

research ?

(A) Objective

(B) Cause-effect linkages
(C) Value-free

(D) Subjective

Which of the following is a measure

of central tendency ?

(A) Mode

(B) Range

(C) Standard deviation

(D) Codification

Ethnography implies .................. .
(A) People are meaning makers
(B) Objective study

(C) Research on people

(D) Sociometry is the study tool

80.

81.

82.

MAR - 14223/11—D

ETeedeh! IV TUMcHS YT

afyreeg e’ ?
(A) I3

(B) SRR Hay

(C) qeAfagH

(D) AT

TICACUsh! SRV Hed FI= AFRE
e ?

(D) THSIHAT ® TS9N eE STe
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83. Match List I with the List II and

mark the correct answer from the

codes given below :

(@)

(b)

(c)

(d)

(1)

(2)

3)

(4)

List I
Central tendency
Dispersion
Correlation
Test of significance

List II
Mean deviation
Pearson’s coefficient
Median

‘P-test

Codes :

A (D

(B) (2

© 3

D) 3)

(@ ®b) (@ (@

2 @ @)

@ @ @

1 @2 @

4) @) @

MAR - 14223/1I—D

83. AT I Aeftel Heur 1 At 11 Hefier Jeaien

N TSN hd LN SR
Sliga gt A IR Gehdioh Gl

fae =1

(@)

®)

(c)

(d)

(1)

2)

3)

(4)

BRI
e gt
STIERTOT
RSEESER
ERIPCEICICil

et 11
g fage
[EESES I LIED
qegieh

-

- -
.
.

A

(B) (2

€ 3

D) 3)

(@ B © @

2 @ O

3 @ @

1 2 @

4) 2 @
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84.

85.

86.

Which is the crucial feature of a good
sample ?

(A) Small size

(B) Representativeness

(C) Easily approachable

(D) Easy to study

The village Mendha Lekha in
Maharashtra is known for its ............ }

(A) Strong local self government
(B) Tribal art

(C) Empowerment of women

(D) Agricultural development

According to Toffler, the wake of the
arrival of the third wave human
social relations and the institutions

are experiencing .................... .

(A) Consolidation in their social

relations

(B)

Disorientation in their social

relations

(C) of

primordial relations

Consolidation their

(D) Consolidation of their secular

relations

84.

85.

86.
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AT TS Hekaqu dfvTsed T
e ?

(A) @ AR

(B) wifaffereha

(C) ¥ush gAY

(D) ST G

TERTEIAE Hel ol § B
el S
(A) TYER T @S TEI9a

(B) 3Tfcamdl ol

(C) HfgeA FoclehLuHTS

(D) Feit faeRramEEt

SR Jd, HFE! GraTSTeh Tae] 7707

e fawe e SEET gEe

(A) I HHEISS Feei= Thiehol

(B) W= WMIfSe Heen feenya
(C) = ey Helemre Tehslah{ol

(D) = Ufesh Ha€r= Tehs{en
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87.

88.

89.

Which of the following is a New

Social Movement ?

(A) The Backward Class Movement
(B) Peasants Movement

(C) Trade Union Movement

(D) LGBT Movement

Through social media false things
are proven as reliable and true by
the powerful sections. This is termed

as :
(A) Media management
(B) Cyber manipulation
(C) Misrepresentation
(D) Misunderstanding

Information revolution led to the

following change :

(A)

Literary skills to mechanical

skills
(B)

Decentralization of work away

from factories

(C)

Predominance of manufacturing

sector

(D) Fordist organization

MAR - 14223/1I—D

87. WIcAcIUeh! ShivId Teh Fd HHISIeh TR

e ?

(A) 9T & F@acs

(B) kil Tesdd

(C) 2T I =aes

(D) Ta. st ot d. Fsdes

88. WU TeTeheA ATHINTR AIEAHTHThA

AT TSl Segl Hed 37 fagag=ia

N

l-‘E‘»l{L"I r{-los chd[ SIdlid deel oIl
3T UETd.

(A) TR HETT
(B) 9@ g&aEd
(C) TRufaffere

(D) TreEws

89. HIfgdl hIdes Weiial dedd STell

(A) HELAl S O FfTh hIve

(B) SREMITIRA G 1 faehgiero

(C) 3UCH & WEm=

(D) ®IfeR Foe
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90.

91.

Which of the following act of violence
has yet not been formulated into a
law ?

(A) Honour killing

(B) Domestic violence

(C) Sexual harassment at workplace

(D) Dowry practice

Given below are two statements, one
is labelled as Assertion (A) and other

as Reason (R).

Assertion (A) : Poor women are
both victims of environmental
degradation and active agents in

environment protection movement.

Reason (R) : The women are more

jeopardized than men.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are correct and

(R) is correct explanation of (A)

Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A)

(A) 1s true, but (R) is false
(A) is false, but (R) is true

(B)

(&)
(D)

90.

91.
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o

TCHeden! ShIOT feer= Sl 3T IR
WU WRkd wren e 2
(A) SR fefem

= o

(B) &Igfoh T
(C) hrare foshToll BIUTRT <ifiTeh Sesavh
(D) TST 9

et g faum foeft omea. T wfaares
(A) % for W HRUT (R) .

yfaured (A) : W& Afean, qafeRoid
BT dodal TTAI ST AT=des!

fa)

TR0 0] TBASHEN Teh!d hedig]

SUSIE

STHATd.

®IUT (R) : qeonuen fomn o1t
HehIeeh IR ST9dTd.

Treftd Fehdie™ed arg W faer

Hehdich :

(A) (A) sfor (R) =1 SR 311ed, 301
(R) § (A) = Irg TICIH0T 3T

(B) (A) 3TfUT (R) SI=T ISR 3Ted, T
(R) ¥ (A) = g T AR

(C) (A) =R 31 907 (R) B I 378
(D) (A) =% 38 901 (R) ¥ s 378
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92.

93.

Which one of the sustainable
development goals deals with the

climate change and its impact ?
(A) Goal No. 6
(B) Goal No. 8
(C) Goal No. 13
(D) Goal No. 15
Hindi movie ‘Ki and Ka’ is an
example of which of the following

concepts ?

(A) Androgyny

(B) Gender bending
(C) Gender roles

(D) Gender conflict

92.

93.

MAR - 14223/1I—D

WeATedeh] hIvA Y9ed o &9 ¥
SATH SICATSI o car=AT TiomaTe Geiied
e ?

(A) 2 %. 6

(B) &9 %. 8
(C) &3 %. 13
D) =3 & 15
&St fasrae ‘=t enfor 1" =1 wrefietteh!

RO Hhed d QR0 38 ?
(A) SHIfATT

(B) fefmmura amehero

(C) femyma sfie

(D) femume ger

94. The ‘new’ about new religious 94. oA wMfHe werdeidia ‘T’ U
movement is ........cceeeunnn... A
(A) New religion (A) a1 o4
(B) New action style
(B) -l Hfagrett
(C) New leadership
. , (C) &t geerdiett
(D) Alternatives to the mainstream
religions (D) & JaTE ¥q T
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96.

97.

refers to a combination

of research methods adopted for

studying social phenomena.
(A) Ethnography

(B) Triangulation

(C) Ethnomethodology

(D) Positivism

Interview is not a .......ccccec..... .
(A) Simple two-way process
(B) Multilayered interpretation
(C) Complex tool

(D) Interpretation of silences and

pauses

‘Broad, overall evaluation of what is
knowledge and how it can be

studied’ is called ................. .
(A) Methodology

(B) Epistemology

(C) Positivism

(D) Ontology

95.

96.

97.

MAR - 14223/11—D

TETTSS  TeAET IE HITITHTS
hReed TeNed IgEdea fHarhre

IE WS T I AHR TR Hod-

g o D I hd HUad ATl

(A) TG
(B) IS
(C) goIeds

(D) Hcal HIHETITS

38



98.

99.

100.

Positivism refers to ................ .
(A)
(B)
(©)

Objectification
Positive attitude to research

An epistemological position
privileging neutral, objective
analysis

(D) Integrated analysis of data,
theory

Research ethics aim at .................. .

(A) Efficiency in research

(B) Ethically sound decisions about

research
(C) dJustified research findings
(D) Reduction in research budget
Which of the following is not

indicated by a survey ?

(A) Collection

information about people living

of data and

in a specific area

(B) Undertaken for administrative

as well as sociological purposes

(C) Collection of great deal of data

about the lifestyles of people
(D) Used to study the dead and past

society

99.
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. HE—

(A) TEHIT

(B) GIYNYATHS TETIATAT HHRICHS
Hi=caE|

(C) &Y, &g fageroumen #gw
SURT AHHERTS T fHeR

(D) qeEm I, fagra are Thifcash
forgerorm

TIMEAR RS E SheqTia 3

3 3T

(A) ERNEA ShHere

(B) GeneATfasE= Aifaemsiag se
A fog

(C) TEiEA o fTent <= §\eA
Tiyesd

(D) FeneAr= 319 Hehourd hUTd

100. TS Teiietient shivnt faem ffm

A AE 2
(A) Tafsre yeomes Teom=n SAenifase
oifedt 27T 9% Heheld

(B) TR T TH GHRRIE SeRH6!
I

(C) <rehT=a SRl aoesh Fgwegul
qeA Gehor

(D) TdehTA STUT 7o FATied THIST
HEHITHIS SHFH
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ROUGH WORK
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